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. The fundamental solution U;(z, s) satisfies (10%)
d*Uy(z, s)
gz d(z —s)

where
(x —s), x> s,

U(z, s) = {_1(3;_ s), z<s

2
the boundary integral equation can be obtained as

1
_ oU; (z, s) ~ U, 5)

u(s) TU(SC)

Please derive the stiiffness matrix of K such that

N[

du(z)
dz

Ko Ko
I Us(z, 8) = 27U (x, 8), i.e., (10%)

Us(z, 5) = {

the boundary integral equation can be obtained

au(s) = LU%(j’ s) u(zx)

Ku = [Kn Ku] [u(o)] ) ldz;(;) R

u(1)

m(z —s), x> s,
—m(z—s), x<s

— Us(z, s)

0

dzx

Please determine the value of a="7
Please derive the stiiffness matrix of K such that

Ku — Ky Ky U(O) _ d’;f;”') |$=0
K21 K22 U(l)

and compare with Problem 1.

It Us(x, s) = Uy(z, 8) + b where b is a constant, we can have (10%)

1

u(s) = %u(m)

Please derive the stiiffness matrix of K such that

- U3('/I’.7 8) dr

K21 K22

Ku= [Kn Ku] [u(O)] _ ld?if) o

u(1)

and compare with Problem 1 and 2.

du(z)|'

I Uy(z, s) = Ur(x, s) + ax + b where a and b are constants, we can have (10%)

u(s) = %u(m)

0

— Uy(z, s)

dz

Please derive the stiiffness matrix of K such that

—

du(z)

Ko Koo U(l)

and compare with Problem 1, 2 and 3.
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du(z) '

Ku = [Kn Ku] [u(o)] ) ldz;(mz R

do |m:1 ]
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